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4. Elaborate the returns to scale with diagram.
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+ Show the short run and long run equilibrium of a perfectly competitive firm.
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% Discuss the modern theory of rent.
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« Explain the liquidity preference theory of interest.
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(viii) Agricultural Marketing.
T fRAqoe
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(x) Vicious-circleof Poverty.
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2. (i) Whatisnew trade policy of India?
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©3. Discuss the basic features of Indian Economy, 20/15
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Whatisnew agricultural strategy adopted for the development of agriculture in India? Discuss, ~ 20/15
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5. Explain industrial development of India during planning period. 20/15
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6. Explain composition and direction of foreign trade of India. 20/15
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7. (@) Poverty is both the cause and effect of rapid population growth in Indjan Economy, Explain. 10/7%
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(b) Thelevel of per capita income is not low in Indian Economy, but its distribution is unequal, Discuss,
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> 8. Discuss the strategy and objectives adopted by Government of India during planning period. 20/15
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